= o
A & 0l & AF 2 E A A
20228 & =0l & LBHSIH el =Xt
2AM: LelsX
Mo LoI=XEX
gel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L= 1,102, 365,749 1,032,330, 782 70,034,967
= 975,759,891
J| 1,985,586
= 124,620,272
Lo sXNsd 1,102,315,081 1,032,282,995 70,032,086
= 975,759,891
J| 1,985,586
< 124,569,604
Lo=sX &4 1,102,315,081 1,032,282,995 70,032,086
= 975,759,891
J| 1,985,586
< 124,569,604
=3 Xa 895,892,495 859,971,612 35,920,883
= 860,757,735
= 35,134,760
308 MtXIEHSOIH 895,892,495 859,971,612 35,920,883
= 860,757,735
< 35,134,760
01 HXNHHNBHELS 895,892,495 859,971,612 35,920,883
OJI=da Xa 895,892, 495,000 895,892,495
= 860,757,735
< 35,134,760
Hz2as0lH =4 300,000 300,000 0
403 UHXSHHSA=0l& 300,000 300,000 0
01 XM A= XL 300,000 300,000 0
Oooz4 =0IH =4 300,000, 000 300,000
CHeteolal & Loltist X 801,901 923,250 A 121,349
307 glz2tol & 308,046 230,325 77,721
10 ALSISXAIEEE2EH EX 233,628 151,607 82,021
Olfstcolsl EHgs 29 XA
233,628,000 233,628
11T M SXASEX 74,418 78,718 A 4,300
Oogt=ole =AHers MY XI& 57,418,000 57,418
O XEACHE &dst X3 17,000, 000 17,000
308 XX EHHSOIA 473,855 437,425 36,430
01 HIXNHHBMNEES 473,855 437,425 36,430
O HIANAEH 2% XA 10,800, 000 10,800
OX<Y eolths g4dst XA 153,000, 000 153,000
Okolsl Atg XN& 54,000,000 54,000
OAlZ ols s8s 23 MY X&
63,000,000 63,000
ootste 25 MEXE 143,055,000 143,055
OLQXNEX SstEH(HA2) 10,000, 000 10,000




EM: Lel=x
By Lo=xEd
ool Lo=X B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OX3g oHzal st20H3 25,000,000 25,000
OX3 HEWA S5 AFS 15,000,000 15,000
403 XX SHHS K201 & 20,000 255,500 A 235,500
01 XIS A2E X 20,000 255,500 A 235,500
OXg nN=esg TEH M 20,000,000 20,000
LoExs 249 14 149,357 126,925 22,432
307 2iz2to| A 15,198 17,425 N2,227
11T AISIEXAIEEX 15,198 17,425 N2,227
OLQXA=2A EH L HEA HHEAH
7,548,000 7,548
OokoEXS Stz e HEF 7,650,000 7,650
308 MXISHMSOIA 44,820 0 44,820
01 IXHHIMNEXTZ 44,820 0 44,820
OLoIESX& SAAF dHZAH X
44,820,000 44,820
403 XX SHHS K 20| & 89,339 109, 500 N 20,161
01 MXHAHXE2BE =X 89,339 109, 500 AN 20,161
O=sX& 0|8 SeAA8 25 45,000,000 45,000
Ooko=EXNS JseEd 44 339,000 44,339
LOSEXNAE B 11,300 16,700 AN5,400
201 LBt | 11,300 16,700 N5,400
01 AP 22| H| 11,300 16,700 AN5,400
Ooro=Exa idg & 11,300,000 11,300
LOIEX SXAY 80,000 40,000 40,000
201 et 40,000 40,000 0
01 AP 2t 2] H| 40,000 40,000 0
Oko=X SEAYE &2 40,000,000 40,000
308 XX SHHSOIH 40,000 0 40,000
01 AIXSHMENEXZ 40,000 0 40,000
OLe=2X ChRAUHEH M2 40,000,000 40,000
Lolgdxiel & Al E2SAE =20 98,088,784 88,837,029 9,251,755
= 75,452,911
= 22,635,873
308 XHXIEHSO|A 98,088,784 88,837,029 9,251,755
= 75,452,911
= 22,635,873
01 AIKSHHEMNEX= 98,088,784 88,837,029 9,251,755
Orodxiel & A& SX& 98,088,784,000 98,088,784
= 75,452,911
o= 22,635,873




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ALIGIE2E 29 X& 1,355,040 1,070,740 284,300
308 AHAIEHHSOIA 1,355,040 1,060,740 294,300
01 HXNHHBHELS 1,355,040 1,060, 740 294,300
OAUNZ2Y 298 XA 1,305,000, 000 1,305,000
OAMUOUEE SAHA HRHH 35,640,000 35,640
OALINHZ2E SAR Z@dgad X2
14,400,000 14,400
Lol dXtel X (XHA) 144,732 172,087 A27,355
308 MtXIEHMSOH 144,732 172,087 A 27,355
01 XML EES 144,732 172,087 A 27,355
Okolgiiel nE&cA3d XA 144,732,000 144,732
SHUMOIZHX MY 2 240,000 230,000 10,000
307 gl2tol & 240,000 230,000 10,000
05 BIZERI & 3 240,000 230,000 10,000
OSEUMOIEHRNAEH 29 240,000,000 240,000
NS SSHEB S (HEAY) 155,230 0 155,230
307 i+l & 155,230 0 155,230
02 It HAMHEE 155,230 0 155,230
OAzz8Es X& 155,230,000 155,230
dEE A el X 655,500 186,000 469,500
= 327,750
< 327,750
307 21201 A 655,500 186,000 469,500
= 327,750
< 327,750
02 QB HAANGFEX 655,500 0 655,500
OotlEyd 3d3gd gitel N&E 655,500, 000 655,500
= 327,750
< 327,750
J2E X3 3,071,267 2,428,322 642,945
307 21201 A 5,100 0 5,100
11T AL SXAEE X 5,100 0 5,100
OZ2Y Z208 2A E0S 5,100,000 5,100
308 XXM SO0l A 1,584,167 1,351,322 232,845
01 HIXNHHNBNEES 1,584,167 1,351,322 232,845
OZ3z2g 23 1,425,467,000 1,425,467
OZ=22Y DINUX S2XE ¢5Y 8x(c&
o) 30,000, 000 30,000
OZ2E Alas & HA S#ZMA
128,700,000 128,700




2N
X ZH -
L= B
el

FH H
e e re
T
A

mxom =l

&l
Xl

[

(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 XXM S X201 1,482,000 1,077,000 405,000
01 X SHMA2E X 1,482,000 1,077,000 405,000
COIOHMALD Ol A (=RIEO) 6,000,000 6,000
OZ2Y &l - &5 2 JIsE& 1,476,000,000 1,476,000
F2E Wty ¥ =4l X & 8,518,743 6,090,000 2,428,743
= 6,552,879
< 1,965,864
308 XXM S0l ™ 8,518,743 6,090,000 2,428,743
= 6,552,879
< 1,965,864
01 AXSHBLELS 8,518,743 6,090,000 2,428,743
OZ=2Y dutety] & 2f=xdl X
8,518,743,000 8,518,743
= 6,552,879
< 1,965,864
229 XY Z2AMEH=29 291,996 290,740 1,256
= 145,998
< 145,998
307 21201 A 291,996 290,740 1,256
= 145,998
< 145,998
11T AL SXAIEE = 291,996 0 291,996
OZ2Y Z9XNJAdH 24 291,996, 000 291,996
= 145,998
< 145,998
ZARHALY FESAAMY 819,049 819,049 0
308 XXM S0 A 819,049 819,049 0
01 HIXNHHNBMNEELS 819,049 819,049 0
OMASMHILEQl AABNE 502,707,000 502,707
FEAZANY 29 316,342,000 316,342
SAL N2 (SSHEE 29) 190,376 317,293 A126,917
308 MtXIEHSOIH 129,507 215,845 A 86,338
01 AXHHILEEXS 129,507 215,845 286,338
O=sHkeo ssdes 24 129,507,000 129,507
403 UHXSHHS =0l & 60,869 101,448 AN40,579
01 X SH AL 60,869 101,448 A 40,579
Ok Zsdas =5 60,869,000 60,869
LolgtEsE MU A AFEXIR (HEME) 114,906 107,080 7,826
= 80,434
< 34,472
307 21201 A 114,906 107,080 7,826
= 80,434
< 34,472

~



2N
X ZH -
L= B

el

_ _ _ SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 MEEXNAEHESIHEEX 114,906 107,080 7,826
OLoAEES=2 HUIAAMY KIS (HEMHE)
114,906,000 114,906
=2 80,434
[ 34,472
CORES=2MUA AT (KAHE) 31,834,132 29,659,535 2,174,597
= 26,216,337
[= 5,617,795
308 XA XISHHSOIA 31,834,132 29,659,535 2,174,597
= 26,216,337
[= 5,617,795
01 RHXSHBAEEZ 31,834,132 29,659,535 2,174,597
OLolgtzs=2 MUlA ALY X (XAHE)
31,834, 132,000 31,834,132
=2 26,216,337
[ 5,617,795
ColgEES=2MHIA 2L X2 (XHH) 892,080 892,080 0
307 eI2+0l & 5,400 5,400 0
10 MEEXNAEHES2IHEE 5,400 5,400 0
OLoIgE=E2HUIA HRAMAH K (HEA
B) 5,400,000 5,400
308 AXISHHSOIA 886,680 886,680 0
01 RHXSHBANEES 886,680 886,680 0
OLogE=S=2HUIA HRMAH XXM
g) 886,680,000 886,680
SHLORO SZTUHEOAMHA SEXA(HEH 57,756 52,793 4,963
B)
Jl 28,878
[ 28,878
307 @I2+0l & 57,756 52,793 4,963
Jl| 28,878
< 28,878
10 MIEXNAEHESIHER 57,756 52,793 4,963
OSHCQHQ SSAHTAMMHA 2HX
(HEHE) 57,756,000 57,756
Il 28,878
= 28,878
SHLORO SZUHFOAMHA SEX A (XS Al 1,956,708 1,788,603 168,105
H)
J| 1,956,708
308 A XISHHI SOl A 1,956,708 1,788,603 168,105
Jl 1,956,708
01 R SHBIANEES 1,956,708 1,788,603 168, 105
OSAHCOQHO SZHFAMMHA 29X
(RIS AE) 1,956,708,000 1,956,708
J| 1,956,708




2N
X ZH -
L= B

el

FH H
e e re

=%
=Xz
23 =X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SN HHC SSAHMAMMEA 2GR (KHA) 20,520 20,520 0
307 gl2tol & 3,600 3,600 0
10 AL SXNAIEEE2EH EX 3,600 3,600 0
OSHAFML SSATAMHEI A SAL
HMAH XA (HELH) 3,600,000 3,600
308 MtXIEHSOIH 16,920 16,920 0
01 HXNHHBHELS 16,920 16,920 0
OSHAFML SSATMHEI A SAL
HMoMad X2 (KDHE) 16,920,000 16,920
NELoEBSHE2IN 23X 813,076 755,550 57,526
= 406,538
= 406,538
307 21201 A 813,076 755,550 57,526
= 406,538
= 406,538
10 M2 SXNANEHE2IHEX 813,076 755,550 57,526
LOESHEEIZ 23 813,076,000 813,076
= 406,538
< 406,538
LOoESEEINZS 23 125,420 110,280 15,140
201 €24 1,700 0 1,700
01 At 22l 1,700 0 1,700
OLQESHBI2 =ENEFYARAAS 2L
1,700,000 1,700
307 glz2tol & 123,720 110,280 13,440
10 AL SXNAIEEE2EH EX 75,120 61,680 13,440
OLQLESHBI2 SML MM
34,920,000 34,920
OsY E2LAESdEEII& 2z
26,400,000 26,400
OLQESHEINZ BSAR FHZAH X
13,800, 000 13,800
11 AL S XALEE = 48,600 48,600 0
Okl Ay s XA 48,600,000 48,600
StiOlol =¥ EHH 22X & 245,222 194,822 50,400
= 122,611
= 122,611
307 izl & 245,222 194,822 50,400
= 122,611
< 122,611
10 ALSISXAIEEE2EH EX 245,222 194,822 50,400
Osttillof- dE&HH 2EXNA
245,222,000 245,222
= 122,611




2N
X ZH -
L= B

el

o &2

Xl

il

=x|
[S=Jy i

FH H
e e re
T

X
X
X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| == 122,611
COQAANLESHEISELAMS (AZRE) 3,476,013 4,975,382 A 1,499,369
= 2,969,698
< 506,315
403 Mt SHHSA=0l& 3,476,013 4,975,382 A 1,499,369
= 2,969,698
< 506,315
01 HIXSHMA2E X 3,476,013 4,975,382 A 1,499,369
OL2=XAE JsE22AY 3,476,013,000 3,476,013
= 2,969,698
< 506,315
=4 ZAAIE &X 2,272,000 686,000 1,586,000
= 2,272,000
403 MtXISHH S0l & 2,272,000 686,000 1,586,000
= 2,272,000
01 XS M A=2EE 2,272,000 686,000 1,586,000
OXNHEEBANEZLNHA & T2 HE >
2,272,000,000 2,272,000
= 2,272,000
LZ A 2EH X2 (MEAY) 891,830 782,132 109,698
308 XX EHHSOIA 891,830 782,132 109,698
01 HIXNHHBNEES 891,830 782,132 109,698
OLZAIE 22l X 891,830,000 891,830
LoEIIRY A2 SHREES N ALY (SIHEE X 46,799,898 0 46,799,898
2l)
308 AHXIEHHSOIA 46,799,898 0 46,799,898
01 HXNHHNBMNEELS 46,799,898 0 46,799,898
OLQIMaAd BIQYEE X (ANE=0H)
33, 130,306,000 33,130,306
OMIM-oHIAEE XA (MIHSH)
13,669,592, 000 13,669,592
LOISTAE X2 1,594,750 30,413,991 A 28,819,241
201 Let24d] 6,120 6,800 A 680
01 At 22l 6,120 6,800 A 680
OMII=SRAE 2elXI&E 3,825,000 3,825
ORQYESS At XHRXIE 2,295,000 2,295
307 21201 A 153,700 108,700 45,000
02 B AAFEX 30,000 0 30,000
OFd e=SXAE SAR 28 208
30,000, 000 30,000
04 QIZFHALAIH B & 38,000 38,000 0
OLQlde - MHIHAIE BAR Ex1E & HE
ATH=ERM 38,000,000 38,000




2AM: LelsX
By Lo=xEd
gel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 85,700 70,700 15,000
OLg Lo2dAd 2229 X
85,700,000 85,700
308 AHXIEHHSOIA 1,398,930 30,204,991 A 28,806,061
01 HXNHHNBMNEELS 1,398,930 30,204,991 A 28,806,061
OLQMEANL SS2AXN K& 94,080,000 94,080
OMIt= XN M A 2 917,400,000 917,400
OLEXAE SAX HRIMLH XA
385,200,000 385,200
OLZAE SAA BHZAH XI& 2,250,000 2,250
403 MtXISHHE A0l & 36,000 93,500 A 57,500
01 XM A=2EE 36,000 93,500 A 57,500
Ok Js2 11,000, 000 11,000
OLeF=AN=EXNANE JIsE2S 25,000, 000 25,000
DZ2LHY9 AP X E el K& Y| 455,000 0 455,000
= 455,000
308 X EHSOIA 455,000 0 455,000
= 455,000
01 HIXNHHNBNEELS 455,000 0 455,000
OZ22LH9 &l X4 455,000,000 455,000
= 455,000
Lol EX AI#Z=Z 2,565 2,708 A 143
Lol EX AIEFA 2,565 2,708 A 143
Lol SX AHFA 2,565 2,708 A 143
203 R =&t 2,565 2,708 A 143
03 A F=XH R =AY 2,565 2,708 A 143
OANMFAH R =] 2,565,000 2,565
HH2HZH (L =XD) 48,103 45,079 3,024
Jleddl (el =sX) 48,103 45,079 3,024
Jl2ddl (=l =X) 48,103 45,079 3,024
201 Let24E] 22,610 20,995 1,615
01 At 2t 2l 22,610 20,995 1,615
Okel=X g2=2 22,610,000 22,610
202 (44l 22,253 20,664 1,589
01 S LHOIYI 22,253 20,664 1,589
Okel=X gR=2 22,253,000 22,253
203 YR =&l 3,240 3,420 A 180
04 RENSELRZ=LH 3,240 3,420 A 180
OL2=EX EA2EYRFA 3,240,000 3,240




